	MAFS.912.A-CED.1.3 
	Represent constraints by equations or inequalities and by systems of equations and/or inequalities, and interpret solutions as viable or nonviable options in a modeling context. For example, represent inequalities describing nutritional and cost constraints on combinations of different foods. 



Item Type
Multiple Choice

[bookmark: _GoBack][image: ]




image1.tmp
The production cost, C, in thousands of dollars, for a toy company to manufacture a ball is given by the model
C(x) = 75+ 21x - 0.72x% where x is the number of balls produced in one day, in thousands. The company
wants to keep its production cost at or below $125,000. The graph shown models the situation.
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What is a reasonable constraint for the model?

® -325x<3238
® 2.62<x<26.55
©® -3.2<x<2.62and 26.55< x <32.38

® 0<x<2.62and 26.55 < x <32.38




